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DSV Jsaall sl o
a 24 -5 -7,5
b 3,5 7 13 6,5
-a 11 -9,2 6 -5
-b 0,5 -2,5 -2
axb
ax (-b)
-axb
-ax(-b)
| ..
2 i
&Lﬁt—b&;‘
=-25x34x(-7)x11x(-3)x7
B=12,5x(-7,5)x0,05x(-8,5)x335x0
C=(-55)-4x(-35)+(-11):(-0,5)+85-1
D=152-3x(-4)+55:(-2)-(-7)
g i 3 Gu
: &um\éz\y_})}ﬂ‘w|

A=35x(4+1,5) ;; B=05x(-65+3) ;; C=42x(-7-9,2)
D=-55x(6+72) ;; E=-82x(-11+25) ;; F=-1,5x(-9-5,3)
G=25x(-5)+25x75 ;; H=-47x11-(-45)x(-14)
[=325x(-1,8)-68x(-1,8) ;5 J=35x(-3,5)+(-3,5)x3,5
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‘ 4 (il

CAlee 4 Sl sn bl A 25 5% 3=76,5 ¢ A0V 4 gludall JaaY

255x(-3) 5 -255x3 ;; -255x(-3) 5 -(255x3) 3 76,5:(-3)
-76,5:25,5 3 76,5:(-255) 5 -76,5:(-255) ;5 -76,5:3



| -

‘ S e

D00 Sa el 3 LI aas | i (g plie 2 g

Chaselae: 6xax24x(-5) Clelae s -5xax2x7x(-1)

Clelae - —8x9xax(-1)x5x(-0,5) Jhsgelae o - 15xax7x(-3)
| .
‘ 6

d=-535¢=05 sb=-115 a=225: xai
PR TR el
.11la ;; -5b ;; 2,5¢ ;; -4.,6d
ax(-b) ;; cxd ;; 2ax(-5d) ;; -1,5bx(-3c)x2d
axbxcxd ;; -ax(-b)x(-c)x(-d)

; | 7 o
:%A:\LA%\
1 1 1 1
112x— ;; —0,55x% 5 x(=25) ;; 245,63x———
112 055 7 —25 045,63
3B5x—b  —225x & s os27x——b . =L (1855

33,5 22,5 —-52,7 —-18,55





